

COVID 19
[bookmark: _GoBack]Reforestation Exam #1

Name _________________________________		School_____________________________________

1.	When planting seedlings using a tractor, the coulter should cut at least ___ inches deep.
A) 8	B) 9	C) 10	D) 12
2. 	How much can a good hand planter earn per day in open sites if he receives 9 cents per tree and plants 1200 seedlings per day?
_____________dollars
3.	Which region of the United States plants the most trees?
	A) Pacific Northwest	B) Southeast	C) Northeast	D) Southwest
 4.   How many square feet are there in an acre of land in central Georgia with slopes greater than 	7%?
A) 30,492 	B) 40,380	C) 43,560	D) 87,120 
5.   “J” or “L” rooting of seedlings is caused by ____________________
	A) wind speeds above 12 mph at planting	B. Inadequate moisture at planting
	C) root pruning					D) improper planting depth
6.  	How much will it cost a landowner to plant 40 acres of longleaf pine using the following 	information?
	Spacing		6’ x 12’ 
	Seedling cost	$185/1000
	Planting cost	$100/1000
	____________________
7.	If the CRP will pay for 80% of the reforestation cost in question 6, what will be the final expense 	to the landowner?
	____________________
8.   (True or False) Planting bareroot seedlings when the relative humidity is 22% decreases seedling 	survival.
9.   The best planting conditions are when temperatures are between ____________________ 	degrees Fahrenheit. 
A) 25-55	B) 30-60	C) 35-60 	D) 35-95
10.  (True or False) Planting Crews should prune excessively long roots during the planting operation 	only when temperatures are below 30 degrees Fahrenheit.
 






1. B
2. 108
3. B
4. C
5. D
6. $7,125
7. $1,425
8. True
9. C
10. False



